

Some Basic Properties of QIFSN(G)

Amir Shomali¹ and Rasul Rasuli^{2,*}

- ¹ Department of Mathematics, Sanandaj Branch, Islamic Azad University, Sanandaj, Iran e-mail: shomali.math@gmail.com
- 2 Department of Mathematics, Payame Noor University (PNU), P. O. Box 19395-4697, Tehran, Iran

e-mail: rasuli@pnu.ac.ir

Abstract

In this paper, as using norms (T and C), we introduce the concepts of strongest relations, cosets and middle cosets of Q-intuitionistic fuzzy subgroups and prove some simple but elegant results about them. Also we discuss few results of them under homomorphism as well as anti homomorphism.

1 Introduction

After the introduction of fuzzy sets by Zadeh [27], various notions of higher-order fuzzy sets have been proposed. Among them, intuitionistic fuzzy sets, introduced by Atanassov [3, 4], have drawn the attention of many researchers in the last decades. This is mainly due to the fact that intuitionistic fuzzy sets are consistent with human behavior, by ecting and modeling the hesitancy present in real-life situations. In fact, the fuzzy sets give the degree of membership of an element in a given set, while intuitionistic fuzzy sets, the degree of membership and a degree of non-membership. As for fuzzy sets, the degree of membership

^{*}Corresponding author

Received: August 29, 2023; Accepted: October 7, 2023; Published: October 10, 2023 2020 Mathematics Subject Classification: 08A72, 20XX, 47A30, 20N25, 20K27, 20K30.

Keywords and phrases: fuzzy algebraic structures, group theory, norms, *Q*-intuitionistic fuzzy subgroups, normal *Q*-intuitionistic fuzzy subgroups, homomorphisms.

is a real number between 0 and 1. This is also the case for the degree of nonmembership, and furthermore the sum of these two degrees is not greater than 1. Yuan and Lee [26] defined the fuzzy subgroup and fuzzy subring based on the theory of falling shadows. Solairaju and Nagarajan [25] introduced the notion of Q- fuzzy groups. Anthony and Sherwood [2] gave the definition of fuzzy subgroup based on t-norm. In previous works [6-24], by using norms, the second author investigated some properties of fuzzy algebraic structures, specially, we defined and investigated Q-fuzzy subgroups, anti Q-fuzzy subgroups, Q-intuitionistic fuzzy subgroups with respect to norms [6, 7, 8, 9, 15]. In this study, we consider the concepts of strongest relations, cosets and middle cosets of Q-intuitionistic fuzzy subgroups with respect to norms (T and C) and investigate some of their properties. Moreover, we investigate some related properties of them under homomorphism and anti homomorphism.

2 Preliminaries

This section contains some basic definitions and preliminary results which will be needed in the sequal. For more details we refer to [1, 2, 3, 4, 5, 6, 7, 8, 10, 15].

Definition 2.1. A fuzzy subset of X is a function from X into [0,1]. The set of all fuzzy subsets of X is called the fuzzy power set of X and is denoted by FP(X).

Definition 2.2. Let G be an arbitrary group with a multiplicative binary operation and identity e. A fuzzy subset of G, we mean a function from G into [0,1]. The set of all fuzzy subsets of G is called the [0,1]-power set of G and is denoted FP(G).

Definition 2.3. Let $\mu \in FP(G)$. Then μ is called a fuzzy subgroup of G if (1) $\mu(xy) \ge \mu(x) \land \mu(y)$ for all $x, y \in G$ and (2) $\mu(x^{-1}) \ge \mu(x)$ for all $x \in G$. Denote by F(G), the set of all fuzzy subgroups of G. **Definition 2.4.** For sets X, Y and $Z, f = (f_1, f_2) : X \to Y \times Z$ is called a complex mapping if $f_1 : X \to Y$ and $f_2 : X \to Z$ are mappings.

Definition 2.5. Let X be a non-empty set. A complex mapping $A = (\mu_A, \nu_A)$: $X \to [0, 1] \times [0, 1]$ is called an intuitionistic fuzzy set (in short, *IFS*) in X, where functions $\mu_A \in FP(X)$ and $\nu_A \in FP(X)$ define the degree of membership and the degree of non-membership of the element $x \in X$ to the set A, respectively, and for every $x \in X$

$$0 \le (\mu_A(x) + \nu_A(x)) \le 1.$$

In particular \emptyset_X and U_X denote the intuitionistic fuzzy empty set and intuitionistic fuzzy whole set in X defined by $\emptyset_X(x) = (0, 1)$ and $U_X(x) = (1, 0)$, respectively. We will denote the set of all *IFSs* in X as *IFS*(X).

Definition 2.6. Let X be a non-empty set and let $A = (\mu_A, \nu_A)$ and $B = (\mu_B, \nu_B)$ be *IFSs* in X. Then

(1) Inclusion: $A \subseteq B$ iff $\mu_A \leq \mu_B$ and $\nu_A \geq \nu_B$.

(2) Equality: A = B iff $A \subseteq B$ and $B \subseteq A$.

Definition 2.7. A *t*-norm *T* is a function $T : [0,1] \times [0,1] \rightarrow [0,1]$ having the following four properties:

(T1) T(x, 1) = x (neutral element) (T2) $T(x, y) \leq T(x, z)$ if $y \leq z$ (monotonicity) (T3) T(x, y) = T(y, x) (commutativity) (T4) T(x, T(y, z)) = T(T(x, y), z) (associativity), for all $x, y, z \in [0, 1]$.

Corollary 2.8. Let T be a t-norm. Then for all $x \in [0, 1]$ (1) T(x, 0) = 0, (2) T(0, 0) = 0.

Example 2.9. (1) Standard intersection t-norm

$$T_m(x,y) = \min\{x,y\}.$$

(2) Bounded sum t-norm

$$T_b(x, y) = \max\{0, x + y - 1\}.$$

(3) Algebraic product t-norm

$$T_p(x,y) = xy.$$

Lemma 2.10. Let T be a t-norm. Then

$$T(T(x,y),T(w,z)) = T(T(x,w),T(y,z)),$$

for all $x, y, w, z \in [0, 1]$.

Definition 2.11. A *t*-conorm *C* is a function $C : [0,1] \times [0,1] \rightarrow [0,1]$ having the following four properties:

 $\begin{array}{l} ({\rm C1}) \ C(x,0) = x \\ ({\rm C2}) \ C(x,y) \leq C(x,z) \ {\rm if} \ y \leq z \\ ({\rm C3}) \ C(x,y) = C(y,x) \\ ({\rm C4}) \ C(x,C(y,z)) = C(C(x,y),z) \ , \\ {\rm for \ all} \ x,y,z \in [0,1]. \end{array}$

Corollary 2.12. Let C be a C-conorm. Then for all $x \in [0, 1]$ (1) C(x, 1) = 1. (2) C(0, 0) = 0.

Example 2.13. (1) Standard union t-conorm

$$C_m(x,y) = \max\{x,y\}.$$

(2) Bounded sum t-conorm

$$C_b(x, y) = \min\{1, x + y\}.$$

(3) Algebraic sum *t*-conorm

$$C_p(x,y) = x + y - xy.$$

Recall that t-norm T (t-conorm C) is idempotent if for all $x \in [0, 1]$, T(x, x) = x(C(x, x) = x).

Lemma 2.14. Let C be a t-conorm. Then

$$C(C(x,y),C(w,z)) = C(C(x,w),C(y,z)),$$

for all $x, y, w, z \in [0, 1]$.

Definition 2.15. Let (G, .) be a group and Q be a non-empty set. An intuitionistic fuzzy set $A = (\mu_A, \nu_A) \in IFS(G \times Q)$ is said to be a Q-intuitionistic fuzzy subgroup of G with respect to norms (t-norm T and t-conorm C) if the following conditions are satisfied:

(1)

$$A(xy,q) = (\mu_A(xy,q), \nu_A(xy,q)) \supseteq A(T(\mu_A(x,q), \mu_A(y,q)), C(\nu_A(x,q), \nu_A(y,q))),$$

(2)

$$A(x^{-1},q) = (\mu_A(x^{-1},q),\nu_A(x^{-1},q)) \supseteq A(x,q) = (\mu_A(x,q),\nu_A(x,q))$$

which mean:

(a) $\mu_A(xy,q) \ge T(\mu_A(x,q),\mu_A(y,q)),$ (b) $\nu_A(xy,q) \le C(\nu_A(x,q),\nu_A(y,q)),$ (c) $\mu_A(x^{-1},q) \ge \mu_A(x,q),$ (d) $\nu_A(x^{-1},q) \le \nu_A(x,q),$ for all $x, y \in G$ and $q \in Q.$

Throughout this paper the set of all Q-intuitionistic fuzzy subgroups of G with respect to norms (t-norm T and t-conorm C) will be denoted by QIFSN(G).

Proposition 2.16. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$ such that T and C be idempotent. Then

$$A(e_G,q) \supseteq A(x,q)$$

for all $x \in G$ and $q \in Q$.

3 Strongest Relations, Cosets and Middle Cosets of QIFSN(G)

Definition 3.1. Let $A = (\mu_A, \nu_A) \in IFS(G \times Q)$ and $B = (\mu_B, \nu_B) \in IFS((G \times G) \times Q)$. We say that B is the strongest relation of G with respect to A if $B((x, y), q) = (\mu_B((x, y), q), \nu_B((x, y), q))$ such that $\mu_B((x, y), q) = T(\mu_A(x, q), \mu_A(y, q))$ and $\nu_B((x, y), q) = C(\nu_A(x, q), \nu_A(y, q))$ for all $(x, y) \in G \times G$ and $q \in Q$.

Proposition 3.2. Let $A = (\mu_A, \nu_A) \in IFS(G \times Q)$ and $B = (\mu_B, \nu_B) \in IFS((G \times G) \times Q)$ such that B be the strongest relation of G with respect to A. Then $A \in QIFSN(G)$ if and only if $B \in QIFSN(G \times G)$.

Proof. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$. First we show that

$$\mu_B((x_1, x_2)(y_1, y_2), q) \ge T(\mu_B((x_1, y_1), q), \mu_B((x_2, y_2), q))$$

for all $(x_1, x_2), (y_1, y_2) \in G \times G$ and $q \in Q$.

$$\begin{split} \mu_B((x_1, x_2)(y_1, y_2), q) &= \mu_B((x_1y_1, x_2y_2), q) \\ &= T(\mu_A(x_1y_1, q), \mu_A(x_2y_2, q)) \\ &\geq T(T(\mu_A(x_1, q), \mu_A(x_2, q)), T(\mu_A(y_1, q), \mu_A(y_2, q))) \\ &= T(T(\mu_A(x_1, q), \mu_A(y_1, q)), T(\mu_A(x_2, q), \mu_A(y_2, q))) \\ &= T(\mu_B((x_1, y_1), q), \mu_B((x_2, y_2), q)) \end{split}$$

Similarly we can see that

$$\nu_B((x_1, x_2)(y_1, y_2), q) \le C(\nu_B((x_1, y_1), q), \nu_B((x_2, y_2), q))$$

for all $(x_1, x_2), (y_1, y_2) \in G \times G$ and $q \in Q$.

We now show that

$$\mu_B((x,y)^{-1},q) \ge \mu_B((x,y),q)$$

for all $(x, y) \in G \times G$ and $q \in Q$.

$$\mu_B((x,y)^{-1},q) = \mu_B((x^{-1},y^{-1}),q)$$

= $T(\mu_A(x^{-1},q),\mu_A(y^{-1},q))$
 $\ge T(\mu_A(x,q),\mu_A(y,q))$
= $\mu_B((x,y),q)$

Similarly

$$\nu_B((x,y)^{-1},q) \le \nu_B((x,y),q)$$

for all $(x, y) \in G \times G$ and $q \in Q$. Hence, by Definition 2.15, $B = (\mu_B, \nu_B) \in QIFSN(G \times G).$

Conversely, suppose that $B = (\mu_B, \nu_B) \in QIFSN(G \times G)$.

(1) Let $x_1, x_2, y_1, y_2 \in G$ with $x_2 = y_2 = e_G$ and $q \in Q$. Then Proposition 2.16 give us that $A(e,q) \supseteq A(x_1y_1,q)$. Then

$$\begin{split} \mu_A(x_1y_1,q) &= T(\mu_A(x_1y_1,q),\mu_A(e_G,q)) \\ &= T(\mu_A(x_1y_1,q),\mu_A(x_2y_2,q)) \\ &= \mu_B((x_1y_1,x_2y_2),q) \\ &= \mu_B((x_1,x_2)(y_1,y_2),q) \\ &\geq T(\mu_B((x_1,x_2),q),\mu_B((y_1,y_2),q)) \\ &= T(T(\mu_A(x_1,q),\mu_A(x_2,q)),T(\mu_A(y_1,q),\mu_A(y_2,q))) \\ &= T(T(\mu_A(x_1,q),\mu_A(e,q)),T(\mu_A(y_1,q),\mu_A(e,q))) \\ &\geq T(T(\mu_A(x_1,q),\mu_A(x_1,q)),T(\mu_A(y_1,q),\mu_A(y_1,q))) \\ &= T(\mu_A(x_1,q),\mu_A(y_1,q))) \end{split}$$

and thus

$$\mu_A(x_1y_1, q) \ge T(\mu_A(x_1, q), \mu_A(y_1, q))).$$

 Also

$$\begin{split} \nu_A(x_1y_1,q) &= C(\nu_A(x_1y_1,q),\nu_A(e_G,q)) \\ &= C(\nu_A(x_1y_1,q),\nu_A(x_2y_2,q)) \\ &= \nu_B((x_1y_1,x_2y_2),q) \\ &= \nu_B((x_1,x_2)(y_1,y_2),q) \\ &\leq C(\nu_B((x_1,x_2),q),\nu_B((y_1,y_2),q)) \\ &= C(C(\nu_A(x_1,q),\nu_A(x_2,q)),C(\nu_A(y_1,q),\nu_A(y_2,q))) \\ &= C(C(\nu_A(x_1,q),\nu_A(e,q)),C(\nu_A(y_1,q),\nu_A(e,q))) \\ &\leq C(C(\nu_A(x_1,q),\nu_A(x_1,q)),C(\nu_A(y_1,q),\nu_A(y_1,q))) \\ &= C(\nu_A(x_1,q),\nu_A(y_1,q)) \end{split}$$

thus

$$\nu_A(x_1y_1,q) \le C(\nu_A(x_1,q),\nu_A(y_1,q))).$$

(2) Let $x, y \in G$ with $y = e_G$ and $q \in Q$. Then as Proposition 2.16 we obtain

$$\mu_A(x^{-1}, q) = T(\mu_A(x^{-1}, q), \mu_A(e_G, q))$$

$$\geq T(\mu_A(x^{-1}, q), \mu_A(y^{-1}, q))$$

$$= \mu_B((x^{-1}, y^{-1}), q)$$

$$= \mu_B((x, y)^{-1}, q)$$

$$\geq \mu_B((x, y), q)$$

$$= T(\mu_A(x, q), \mu_A(y, q))$$

$$\equiv T(\mu_A(x, q), \mu_A(e, q))$$

$$\geq T(\mu_A(x, q), \mu_A(x, q))$$

$$= \mu_A(x, q)$$

and then

$$\mu_A(x^{-1},q) \ge \mu_A(x,q).$$

Also

$$\nu_A(x^{-1}, q) = C(\nu_A(x^{-1}, q), \nu_A(e_G, q))
\leq C(\nu_A(x^{-1}, q), \nu_A(y^{-1}, q))
= \nu_B((x^{-1}, y^{-1}), q)
= \nu_B((x, y)^{-1}, q)
\leq \nu_B((x, y), q)
= C(\nu_A(x, q), \nu_A(y, q))
= C(\nu_A(x, q), \nu_A(e, q))
\leq C(\nu_A(x, q), \nu_A(x, q))
= \nu_A(x, q)$$

thus

$$\nu_A(x^{-1},q) \le \nu_A(x,q).$$

Therefore from (1)-(2) we get that $A = (\mu_A, \nu_A) \in QIFSN(G)$. This completes the proof.

Definition 3.3. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$. Then middle coset $aAb : G \times Q \rightarrow [0, 1]$ is defined by

$$(aAb)(x,q) = (a\mu_A b, a\nu_A b)(x,q) = (\mu_A(a^{-1}xb^{-1},q), \nu_A(a^{-1}xb^{-1},q))$$

for all $x \in G, q \in Q$ and $a, b \in G$.

Proposition 3.4. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$. Then $aAa^{-1} \in QIFSN(G)$ for any $a \in G$.

Proof. Let $a, x, y \in G$ and $q \in Q$. Then

$$(a\mu_A a^{-1})(xy,q) = \mu_A(a^{-1}xya,q)$$

= $\mu_A(a^{-1}xaa^{-1}ya,q)$
 $\geq T(\mu_A(a^{-1}xa,q),\mu_A(a^{-1}ya,q))$
= $T((a\mu_A a^{-1})(x,q),(a\mu_A a^{-1})(y,q))$

then

$$(a\mu_A a^{-1})(xy,q) \ge T((a\mu_A a^{-1})(x,q), (a\mu_A a^{-1})(y,q)).$$

Also

$$(a\nu_A a^{-1})(xy,q) = \nu_A(a^{-1}xya,q)$$

= $\nu_A(a^{-1}xaa^{-1}ya,q)$
 $\leq C(\nu_A(a^{-1}xa,q),\nu_A(a^{-1}ya,q))$
= $C((a\nu_A a^{-1})(x,q),(a\nu_A a^{-1})(y,q))$

then

$$(a\nu_A a^{-1})(xy,q) \le C((a\nu_A a^{-1})(x,q), (a\nu_A a^{-1})(y,q)).$$

And

$$(a\mu_A a^{-1})(x^{-1}, q) = \mu_A(a^{-1}x^{-1}a, q)$$

= $\mu_A((a^{-1}xa)^{-1}, q)$
 $\ge \mu_A(a^{-1}xa, q)$
= $(a\mu_A a^{-1})(x, q)$

thus

$$(a\mu_A a^{-1})(x^{-1},q) \ge (a\mu_A a^{-1})(x,q).$$

Moreover

$$(a\nu_A a^{-1})(x^{-1}, q) = \nu_A(a^{-1}x^{-1}a, q)$$

= $\nu_A((a^{-1}xa)^{-1}, q)$
 $\leq \nu_A(a^{-1}xa, q)$
= $(a\nu_A a^{-1})(x, q)$

thus

$$(a\nu_A a^{-1})(x^{-1},q) \le (a\nu_A a^{-1})(x,q).$$

Then $aAa^{-1} \in QIFSN(G)$ for any $a \in G$.

Definition 3.5. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$. Then coset $aA = (a\mu_A, a\nu_A) : G \times Q \to [0, 1]$ is defined by

$$(aA)(x,q) = (a\mu_A, a\nu_A)(x,q) = (\mu_A(a^{-1}x,q), \nu_A(a^{-1}x,q)) = A(a^{-1}x,q)$$

for all $x \in G, q \in Q$ and $a \in G$.

Proposition 3.6. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$ and T, C be idempotent norms. Then

$$xA = yA$$

if and only if

$$A(x^{-1}y,q) = A(y^{-1}x,q) = A(e_G,q)$$

for all $x, y \in G$ and $q \in Q$.

Proof. Let $x, y, g \in G$. If xA = yA, then xA(x,q) = yA(x,q), then $A(x^{-1}x,q) = A(y^{-1}x,q)$ and so $A(e_G,q) = A(y^{-1}x,q)$.

Also as xA = yA so xA(y,q) = yA(y,q) and then $A(x^{-1}y,q) = A(y^{-1}y,q)$ then $A(x^{-1}y,q) = A(e_G,q)$. Therefore $A(x^{-1}y,q) = A(y^{-1}x,q) = A(e_G,q)$.

Conversely, let $A(x^{-1}y,q) = A(y^{-1}x,q) = A(e_G,q)$. Then

$$\begin{aligned} x\mu_A(g,q) &= \mu_A(x^{-1}g,q) \\ &= \mu_A(x^{-1}yy^{-1}g,q) \\ &\geq T(\mu_A(x^{-1}y,q),\mu_A(y^{-1}g,q)) \\ &= T(\mu_A(e_G,q),\mu_A(y^{-1}g,q)) \\ &\geq T(\mu_A(y^{-1}g,q),\mu_A(y^{-1}g,q)) \\ &= \mu_A(y^{-1}g,q) \\ &= y\mu_A(g,q) \end{aligned}$$

$$= \mu_A(y^{-1}g,q)$$

= $\mu_A(y^{-1}xx^{-1}g,q)$
 $\geq T(\mu_A(y^{-1}x,q),\mu_A(x^{-1}g,q))$
= $T(\mu_A(e_G,q),\mu_A(x^{-1}g,q))$
 $\geq T(\mu_A(x^{-1}g,q),\mu_A(x^{-1}g,q))$
= $\mu_A(x^{-1}g,q)$
= $x\mu_A(g,q)$

and then

$$x\mu_A(g,q) = y\mu_A(g,q).$$

Also

$$\begin{aligned} x\nu_A(g,q) &= \nu_A(x^{-1}g,q) \\ &= \nu_A(x^{-1}yy^{-1}g,q) \\ &\leq C(\nu_A(x^{-1}y,q),\nu_A(y^{-1}g,q)) \\ &= C(\nu_A(e_G,q),\nu_A(y^{-1}g,q)) \\ &\leq C(\nu_A(y^{-1}g,q),\nu_A(y^{-1}g,q)) \\ &= \nu_A(y^{-1}g,q) \\ &= y\nu_A(g,q) \\ &= \nu_A(y^{-1}g,q) \\ &= \nu_A(y^{-1}xx^{-1}g,q) \\ &\leq C(\nu_A(y^{-1}x,q),\nu_A(x^{-1}g,q)) \\ &\leq C(\nu_A(e_G,q),\nu_A(x^{-1}g,q)) \\ &\leq C(\nu_A(x^{-1}g,q),\nu_A(x^{-1}g,q)) \\ &= \nu_A(x^{-1}g,q) \\ &= x\nu_A(g,q) \end{aligned}$$

and then

$$x\nu_A(g,q) = y\nu_A(g,q).$$

Therefore $xA(g,q) = (x\mu_A(g,q), x\nu_A(g,q)) = (y\mu_A(g,q), y\nu_A(g,q)) = yA(g,q)$ then xA = yA.

Proposition 3.7. Let $A = (\mu_A, \nu_A) \in QIFSN(G)$ and T, C be idempotent norms. If xA = yA, then A(x, q) = A(y, q) for all $x, y \in G$ and $q \in Q$.

Proof. As xA = yA, Proposition 3.6 gives us that $A(x^{-1}y,q) = A(y^{-1}x,q) = A(e_G,q)$ for all $x, y \in G$ and $q \in Q$. From

$$\mu_{A}(x,q) = \mu_{A}(yy^{-1}x,q)$$

$$\geq T(\mu_{A}(y,q),\mu_{A}(y^{-1}x,q))$$

$$= T(\mu_{A}(y,q),\mu_{A}(e_{G},q))$$

$$\geq T(\mu_{A}(y,q),\mu_{A}(y,q))$$

$$= \mu_{A}(y,q)$$

$$= \mu_{A}(xx^{-1}y,q)$$

$$\geq T(\mu_{A}(x,q),\mu_{A}(x^{-1}y,q))$$

$$= T(\mu_{A}(x,q),\mu_{A}(e_{G},q))$$

$$\geq T(\mu_{A}(x,q),\mu_{A}(x,q))$$

$$= \mu_{A}(x,q)$$

we get that $\mu_A(x,q) = \mu_A(y,q)$. Also

$$\nu_A(x,q) = \nu_A(yy^{-1}x,q)$$

$$\leq C(\nu_A(y,q),\nu_A(y^{-1}x,q))$$

$$= C(\nu_A(y,q),\nu_A(e_G,q))$$

$$\leq C(\nu_A(y,q),\nu_A(y,q))$$

$$= \nu_A(y,q)$$

$$= \nu_A(xx^{-1}y, q) \leq C(\nu_A(x, q), \nu_A(x^{-1}y, q)) = C(\nu_A(x, q), \nu_A(e_G, q)) \leq C(\nu_A(x, q), \nu_A(x, q)) = \nu_A(x, q)$$

then $\nu_A(x,q) = \nu_A(y,q)$. Thus $A(x,q) = (\mu_A(x,q), \nu_A(x,q)) = (\mu_A(y,q), \nu_A(y,q)) = A(y,q)$.

Definition 3.8. We say that $A = (\mu_A, \nu_A) \in QIFSN(G)$ is a normal if $\mu_A(xyx^{-1}, q) = \mu_A(y, q)$ and $\nu_A(xyx^{-1}, q) = \nu_A(y, q)$ for all $x, y \in G$ and $q \in Q$. We denote by NQIFSN(G) the set of all normal Q-intuitionistic fuzzy subgroups of G with respect to norms (t-norm T and t-conorm C).

Proposition 3.9. If $A = (\mu_A, \nu_A) \in NQIFSN(G)$, then the set $\frac{G}{A} = \{xA : x \in G\}$ is a group with the operation (xA)(yA) = (xy)A.

Proof. This is straightforward.

Proposition 3.10. Let $f: G \to H$ be a homomorphism of groups and let $B = (\mu_B, \nu_B) \in NQIFSN(H)$ and $A = (\mu_A, \nu_A) \in NQIFSN(G)$ be homomorphic pre-image of B. Then $\varphi: \frac{G}{A} \to \frac{H}{B}$ such that $\varphi(xA) = f(x)B$, for every $x \in G$, is an isomorphism of groups.

Proof. Firstly, we prove that φ is a group homomorphism. Let $x, y \in G$ and $q \in Q$. Then

$$\varphi((xA)(yA)) = \varphi((xy)A) = f(xy)B = f(x)f(y)B = f(x)Bf(y)B = \varphi(xA)\varphi(yA)$$

and so φ is a group homomorphism. Clearly φ is onto and we prove that φ is one-one. If $\varphi(xA) = \varphi(yA)$, then f(x)B = f(y)B and from Proposition 3.6 we get that

$$B(f(x)^{-1}f(y),q) = B(f(y)^{-1}f(x),q) = B(f(e_G),q)$$

and so

$$B(f(x^{-1})f(y),q) = B(f(y^{-1})f(x),q) = B(f(e_G),q)$$

and then

$$B(f(x^{-1}y), q) = B(f(y^{-1}x), q) = B(f(e_G), q)$$

which implies that

$$A(x^{-1}y,q) = A(y^{-1}x,q) = A(e_G,q)$$

and thus Proposition 3.6 gives us that xA = yA which implies that φ is one-one. Therefore φ will be an isomorphism of groups.

Proposition 3.11. Let $f : G \to H$ be an anti homomorphism of groups and let $B = (\mu_B, \nu_B) \in NQIFSN(H)$ and $A = (\mu_A, \nu_A) \in NQIFSN(G)$ be anti homomorphic pre-image of B. Then $\varphi : \frac{G}{A} \to \frac{H}{B}$ such that $\varphi(xA) = f(x)B$, for every $x \in G$, is an anti isomorphism of groups.

Proof. Firstly, we prove that φ is an anti group homomorphism. Let $x, y \in G$ and $q \in Q$. Then

$$\varphi((xA)(yA)) = \varphi((xy)A) = f(xy)B = f(y)f(x)B = f(y)Bf(x)B = \varphi(yA)\varphi(xA)$$

and so φ is a group homomorphism. Clearly φ is onto and we prove that φ is one-one. If $\varphi(xA) = \varphi(yA)$, then f(x)B = f(y)B and from Proposition 3.6 we get that

$$B(f(x)^{-1}f(y),q) = B(f(y)^{-1}f(x),q) = B(f(e_G),q)$$

and so

$$B(f(x^{-1})f(y),q) = B(f(y^{-1})f(x),q) = B(f(e_G),q)$$

and then

$$B(f(x^{-1}y),q) = B(f(y^{-1}x),q) = B(f(e_G),q)$$

which implies that

$$A(x^{-1}y,q) = A(y^{-1}x,q) = A(e_G,q)$$

and thus Proposition 3.6 gives us that xA = yA which implies that φ is one-one. Therefore φ will be an anti isomorphism of groups.

Acknowledgment

It is our pleasant duty to thank referees for their useful suggestions which helped us to improve our manuscript.

References

- Abu Osman, M. T. (1987). On some products of fuzzy subgroups. Fuzzy Sets and Systems, 24(1), 79-86. https://doi.org/10.1016/0165-0114(87)90115-1
- [2] Anthony, J. M., & Sherwood, H. (1977). Fuzzy groups redefined. Journal of Mathematical Analysis and Application, 69(1), 124-130. https://doi.org/10. 1016/0022-247x(79)90182-3
- [3] Atanassov, K. (1986). Intuitionistic fuzzy sets. Fuzzy Sets and Systems, 20(1), 87-96. https://doi.org/10.1016/s0165-0114(86)80034-3
- [4] Atanassov, K. T. (1994). New operations defined over the intuitionistic fuzzy sets. Fuzzy Sets and Systems, 61(2), 137-142. https://doi.org/10.1016/0165-0114(94)90229-1
- Buckley, J. J., & Eslami, E. (2002). An introduction to fuzzy logic and fuzzy sets. Springer-Verlag Berlin Heidelberg GmbH.
- [6] Rasuli, R., & Narghi, H. (2019). T-norms over Q-fuzzy subgroups of groups. Jordan Journal of Mathematics and Statistics (JJMS), 12(1), 1-13.
- [7] Rasuli, R. (2020). Anti Q-fuzzy subgroups under T-conorms. Earthline Journal of Mathematical Sciences, 4(1), 13-28. https://doi.org/10.34198/ejms.4120.1328
- [8] Rasuli, R. (2021). Conorms over conjugates and generalized characteristics of anti Q-fuzzy subgroups. In *The Third national Conference on Management and Fuzzy* Systems. University of Eyvanekey, Iran, Eyvanekey.
- [9] Rasuli, R. (2021). Conorms over level subsets and translations of anti Q-fuzzy subgroups. International Journal of Mathematics and Computation, 32(2), 55-67.
- [10] Rasuli, R. (2022). Fuzzy d-algebras under t-norms. Eng. Appl. Sci. Lett. (EASL), 5(1), 27-36.

- [11] Rasuli, R. (2022). T-fuzzy subgroups and normal T-fuzzy subgroups of bigroups. Journal of Ramannujan Society of Mathematics and Mathematical Sciences, 9(2), 165-184.
- [12] Rasuli, R. (2022). Intuitionistic fuzzy BCI-algebras (implicative ideals, closed implicative ideals, commutative ideals) under norms. *Mathematical Analysis and its Contemporary Applications*, 4(3), 17-34. https://doi.org/10.1109/icsai57119.
 2022.10005393
- [13] Rasuli, R. (2022). T-conorms over anti-fuzzy subgroups on direct product of groups. Annals of Mathematics and Computer Science, 10, 8-18.
- [14] Rasuli, R. (2023). Norms over intuitionistic fuzzy subgroups on direct product of groups. Communications in Combinatorics, Cryptography, and Computer Science, 1, 39-54.
- [15] Rasuli, R. (2023). T-norms over complex fuzzy subgroups. Mathematical Analysis and its Contemporary Applications, 5(1), 33-49.
- [16] Rasuli, R. (2023). Norms over Q-intuitionistic fuzzy subgroups of a group. Notes on Intuitionistic Fuzzy Sets, 29(1), 30-45. https://doi.org/10.7546/nifs.2023.29.
 1.30-45
- [17] Rasuli, R. (2023). Anti fuzzy multigroups and t-conorms. In 2nd National Conference on Soft Computing and Cognitive Science, Conbad Kavous University, Minudasht, Iran.
- [18] Rasuli, R. (2023). T-fuzzy subalgebras of BCI-algebras. International Journal of Open Problems in Computer Mathematics, 16(1), 55-72.
- [19] Rasuli, R. (2023). Norms over Q-intuitionistic fuzzy subgroups of a group. Notes on Intuitionistic Fuzzy Sets, 29(1), 30-45. https://doi.org/10.7546/nifs.2023.29.
 1.30-45
- [20] Rasuli, R. (2023). Fuzzy ideals of BCI-algebras with respect to t-norm. Mathematical Analysis and its Contemporary Applications, 5(5), 39-50.
- [21] Rasuli, R. (2023). Intuitionistic fuzzy complex subgroups with respect to norms (T and S). Journal of Fuzzy Extension and Application, 4(2), 92-114.

- [22] Rasuli, R. (2023). Anti fuzzy d-algebras and t-conorms. In 2nd National Conference on Soft Computing and Cognitive Science, Conbad Kavous University, Minudasht, Iran.
- [23] Rasuli, R. (2023). Normality and translation of IFS(G × Q) under norms. In 26th International Conference on Intuitionistic Fuzzy Sets, Sofia, Bulgaria. https://doi.org/10.7546/nifs.2023.29.2.114-132
- [24] Rasuli, R. (2023). Some properties of fuzzy algebraic structures of QIFSN(G). In 4th International Conference on Computational Algebra, Computational Number Theory and Applications, CACNA2023, University of Kashan, Iran.
- [25] Solairaju, A., & Nagarajan, R. (2009). A new structure and constructions of Q-fuzzy group. Advances in Fuzzy Mathematics, 4, 23-29.
- [26] Yuan, X. H., & Lee, E. S. (1977). A fuzzy algebraic system based on the theory of falling shadows. Journal of Mathematical Analysis and Application, 208(1), 243-251. https://doi.org/10.1006/jmaa.1997.5331
- [27] Zadeh, L. A. (1965). Fuzzy sets. Information and Control, 8(3), 338-353.

This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted, use, distribution and reproduction in any medium, or format for any purpose, even commercially provided the work is properly cited.